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AR 10keg EEI)N] 0 17,335 0 17,335 0 0 0 1,404 0 540 0 0 0
A% 10ke s 0 1,370 0 1,370 0 0 0 3,240 0 1,620 0 0 0
B3 10ke B3 0 7,530 0 7,530 0 0 0 1,620 0 864 0 0 0
¥~y 10ke Fz 0 20,890 0 20,890 0 0 0 1,296 0 864 0 0 0
[F5SNAE 0. 2kek |HE 0 1,680 0 1,680 0 0 0 65 0 43 0 0 0
# L 5ke #E 0 1,686 0 1,686 0 0 0 2,484 0 1,620 0 0 0
125 0. 1ke3k =t 0 665 350 1,015 0 0 0 75 0 64 75 0 64
LA 10kg B34 0 2,784 0 2,784 0 0 0 2,052 0 1,728 0 0 0
A Ske Fz 0 3,495 150 3,645 0 0 0 0 2,808 0 0 2,808 0
fiF 0. 4kg%k 20A |&A 0 1,436 0 1,436 0 0 0 0 178 0 0 0 0
kT 4kg WA 0 3,062 0 3,062 0 0 0 0 1,728 0 0 0 0
E—<> 0. 15ke%¥ B 0 910 0 910 0 0 0 135 0 124 0 0 0
BZAES ke 250 0 4 0 4 0 0 0 3,780 0 3,240 0 0 0
HE Ske E3 0 495 1,855 2,350 0 0 0 1,620 0 1,080 1,620 0 1,080
A—494> L 10kg dtimiE 0 1,730 380 2,110 0 0 0 1,620 0 1,188 1,620 0 1,188
BE L 10ke dtimE 0 520 1,900 2,420 0 0 0 1,620 0 1,080 1,620 0 1,080
% 10ke & 0 2,100 0 2,100 0 0 0 3,240 0 1,080 0 0 0
E# LK 20ke dtimE 0 22,060 3,240 25,300 0 0 0 3,780 0 3,240 3,780 0 3,240
IZAIZ< TkeRwb & 0 2,134 0 2,134 0 0 0 1,620 0 756 0 0 0
EHE 0. 1ke/Xvy  |BHE 0 60 0 60 0 0 0 108 0 86 0 0 0
BHT 0. 1ke/Sw% & 0 84 51 135 0 0 0 70 0 65 70 0 65
ADEE 0. 2ke/Svy |EH 0 710 132 842 0 0 0 0 76 0 0 76 0
AELSHLE 0. 1ke/ Sy | S 0 377 0 377 0 0 0 0 97 0 0 0 0
FWVE 0. 1kessyy iR 0 754 0 754 0 0 0 0 65 0 0 0 0
% x & &t 0 101,294 32,659 133,953 0 0 0 0 0 0 0 0 0
R E &Gt 0 19,764 6,556 26,320 0 0 0 0 0 0 0 0 0
@ &t 0 121,058 39,215 160,273 0 0 0 0 0 0 0 0 0




